VSL-161W
SHOWN AS EXAMPLE

/

WEATHER SEALING

/GASKET

60

180

60

~

( VSL-161W

23.5

80

74.0

:
&
235

Notes:

105.0 51

1. RJ45 Concentrator connection is NOT Ethernet T568A Pinout.
See documentation for correct termination.

N

. Relay contacts rating: 30 Vd.c. /6 A

3. Fit the intercom in place using M4x25 security screws &

M4 nylon washers (supplied by Jacques, HW451, gty 6).
Check gasket for presence of all 6 spacing washers
sandwiched between panel and gasket at all fixing holes.
These must be used. Without them, panel bowing will occur

[ ponNoT scALE |

IF IN DOUBT - ASK!

VSL-16XW INTERCOM STATION INSTALLATION DETAILS

AR\

WEATHER SEALING GASKET
(PRE-ATTACHED TO PANEL)

RELAY
CONTACTS

© \ I~
1 @99 L J
NS/
\
RELAY
CONTACTS
ENLARGED VIEW

SHOWING CONNECTIONS

CONCENTRATOR
CONNECTION

/

—

CONCENTRATOR
CONNECTION

REV

DATE

CHANGE DESCRIPTION

2016-09-13

FIRST RELEASE

2018-06-18

MOUNTING HOLE DIMENSIONS ADDED TO FLUSH FLAT PANEL VIEW. NOTES 4 AND 5 AMENDED (SHT 1).
VIEW SHOWING PANEL FIXINGS UPDATED. #1281

= HJACQUES

LFB Future Proof Communications

(C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
28-30 Bank Street, West End Q 4101
Ph: +61 7 3846 8400

www.jacques.com.au info@jacques.com.au

and may result in poor sealing.

@2018 Jacques Technologies PTY LTD

VSL-16xW INTERCOM STATION
INSTALLATION DETAILS

DRAWN: DATE: ADAPTED FROM: | FILENAME:
LFB  2016-09-13 N/A | VSL-16xW-INS.dwg
CHECKED: DATE: SCALE: SHEET: SIZE:
N.T.S. 1 of 2| A3
APPROVED: DATE: DWG NO: REV:
VSL-16XW-INS 1




DO NOT SCALE

IF IN DOUBT - ASK!

195 JACQUES FWE-3 BACKBOX JACQUES SWE-15 BACKBOX
(130x185x65) mm DEEP 65.0 JACQUES FWE-3 BACKBOX 87 (180.5%125.5x60) mm DEEP 63 .
105
) 5 j 1\ . BACKBOX
o y { o ERAeX qUH L GASKET THREADED INSERT]
. FRONT PANEL ) ¥ SS PANEL TAPPED HOLE
OUTLINE L+, CABLE ACCESS o _
3 R cront paneL B S monTAaNeL 2 FRONT PANEL {Jf = B
3 _ " FRONT PANEL X SCREW
| N SIX M4 ot o
_% SECURITY j ¢_ o ' 5 o < - OUTLINE j [
SCREWS || bl 2 o 4 NYLON 4
1 / . i i e, i
L — K SIX M4x25 H Rt _ S “a WASHER BRASS
G -t / E ‘ G '~« .-+ SECURITY SCREWS [- ERN _‘:_"'.:-_.‘.."_-. e o ", ¥ SPACING WASHER
Tt AR R WEATHER SEALING~  }<«© vt N : e - ‘
SIX FWE-3 e GASKET o Fgéjgul\éﬁ(\z(s
BACKBOX MTG WEATHER SEALING FOUR SWE-15/SWE15SS SCREWS
HOLES @5 mm GASKET HW1451 BACKBOX MOUNTING WEATHER SEALING
WALL CUTOUT TO ACCOMMODATE BACKBOX HOLES @6 mm GASKET HW1451
GASKET \ THREADED INSERT/
Jacques FWE-3 (130x1184x65) mm SS PANEL TAPPED HOLE
BACKBOX -
SURFACE MOUNTING USING SWE-15 OR SWE-155S BACKBOX
M4 SECURITY METAL
105 THREAD SCREWS 1 =~ MINIMUM INSIDE CLEARANCE
7 FROM MOUNTING SURFACE
g ) 60 mm
TAPPED HOLE
SCREW e GASKET IN PANEL
B SS PANEL
NYLON
WASHER BRASS 3
SPACING WASHER |
/ cuTouT 41 //4 I
84 x 140 mm iy
FLUSH WALL MOUNT USING FWE-3 BACKBOX FRONT PANEL FRONT PANEL
OUTLINE < OUTLINE
HW451 x 6
NYLON WASHER SCREW
M4 x 7 mm 0.D., 0.8 mm THICK /4* + q
SEE NOTE 3
. / NYLON
\ ) : WASHE
a DRILL & TAP FLAT PANEL BRASS
%@f 6 HOLES SECTION SPACING WASHER
oS0 TO M4 THREAD WEATHER SEALING %
SIX M4 x 25 SECURITY SCREWS Q@%&@@Q o GASKET HW1451 o
(supplied with backbox) RS
’ Q@@W :
N Z FLUSH MOUNTING INTO FLAT PANEL
N
REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
HW246 x 6 0 |2016-09-13 | FIRST RELEASE LFB \.)’ J ACQU ES e saab a0 - End a0t
g#%g'\égmggh'}ﬁé AVXI/ESL}-lAE\JRDSC(; K&?TOAQJLE mm), 1 |2018-06-18 | MOUNTING HOLE DIMENSIONS ADDED TO FLUSH FLAT PANEL VIEW. NOTES 4 AND 5 AMENDED (SHT 1). LFB Future Proof Communications | www jacques.com.au info@jacques.com.au
FIXING HOLES AT TIME OF INTERCOM ASSEMBLY. VIEW SHOWING PANEL FIXINGS UPDATED. #1281
SEE NOTE 4 VSL-16xW INTERCOM STATION
INSTALLATION DETAILS
DRAWN: DATE: ADAPTED FROM: | FILENAME:
LFB 2016-09-13 N/A VSL-16XxW-INS.dwg
CHECKED: DATE: SCALE: SHEET: SIZE:
N.T.S. 20of 2| A2
- APPROVED: DATE: DWG NO: REV:
(©)2018 Jacques Technologies PTY LTD VSL-16XxW-INS | 1




